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Section A
Questions 1 to 14 carry 2 marks each. For each question, four options are given. One of
them is the correct answer. Make ygurcheice{1, 2, 3 or4). Shade the oval {1, 2,3 0r4j

on the Optical Answer Sheet with a 28 pencil. {28 marks)-

4 The value of thedigit 1 in 31 2467s

¢y 10

() 100
(3) 1000
(4 10000

2 Which of the following numbers when rounded off to the nearest ten becomes
81 5007
(1) 81444
(2) 81496
(3) 81506
(4) 81554

3 Find the vaiue of -;- -

3
2
(M 3
2 2 .
4
(3) 9
8
(4) 3
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4 The figure shown is made up of a square A.of side 3 cm and a rectangle B with
breadth 4 cm. Whatis thietlength oftheractangla?

() 6cm 5 j
cm |
(2) Tem )
‘ B
3 9em
4y 10cm ! | '
) 3cm " 4cm

5 In which of the fellowing numbers does the digit 4 stands for 4 tenths?

(1) 13.45

(2) 2154

{(3) 3468

(4 4153

6 Write 3—7— as a decimal.

20

(1y 372

(2) - 3.7

(3) 3.35

4) 3.035

P4 Math .SA2 2012 2




7 The figure below i$ not-drawn to.scale. Given that alk thie lines mestatright angles,
find its permeter.

16-cm
i é
26 cm
Scm
v I e
(1) 52cm
(2) 84cm
(3) 118cm
(49 132cm
8 The length of a rectangle is twice its breadth. If the breadth is 9 cm, what is the area
of the rectangle?
(1) 54cm?
(2) 81cm?
(3) 121 cm?
4) 162 cm?
P4 Math SA2 2012 3
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The line graph shows the water consumption of the Low family for the past six
months. Study the graph carefully and answer questions 9 and 10.

PN
30 :
‘\\ it \.
25 3 - S it SR
Amount of \/’\\ . /
water 20 \ /
consumed . \ /
(m?) 15 .Y '
10 \\Z
] 4
.
Jan Feb  War Apr MNay Jun
month
9 What was the increase in water consumption from Apr to May?
(h 175m°
2y 275m°
(3) 35m°
4y 4425m°

10 If the Low family had to pay $1.20 for every m?® of water used, how much less did
the Low family pay in June as compared to May?

(1) %12
@ $42
(3) $30
4) $72
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11 Abamboo stick was cut into two pieces. The first piece was % m long. The second

piece was twice as long. Whatwas the eriginal length of the bamboo stick?

)] -g- m

@ Zm “
©) 1% m

@) 2% m

42  Which of the following figures below do not have a line of symmetry?

Figure A Figure B Figure C Figure D

(1) Figures Aand B
(2) FiguresBandC
(3) FiguresCandD
(4) Figures Aand D
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13 Mr Tan took a flight to Thailand and amived at 14 10. If the journgy took him
3 h 30 min, at what imedid the:plane take 8iF2 )

(1) 1040
2) 1110
@) 1740
4) 1810

44 Jamie had. $18 more than Nicole. After:theirfaitier gavie-eagh bfiliein $12, both of

them had $68 attoggﬂ)gr.-ﬁo_w-rhu'ch mongy did:Nicole have-atfrst?

(1) %13
(2) $25
3)  $31
(4  $43
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Section B

Questions 15 to 34 carry 2 marks each. White your answers in the spaces provided. For

questions which require units, give your answers' in.the units stated: (40 marks)
15 Write eleven thousand and forty-five in figures.
9

Ans:
16 What number is 10 more than 78957

Ans:
17 Two factors of 6 are 1 and 6. What are the other two factors of 67

Ans: and
18 Whatv fraéﬁon of the circles shown is shaded?

Ans:

8
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. . . 1
19 Which two of the fractions below are smaller than -7

2

3 8 2 3

7 7 12 3 -1
Ans: and

20  Inthe figure below, oneé of the lines is parallel to BD. Which line is parallel to BD? _

A B C

21 Measure and write down the size of Zx.

Ans;

P4 Math SAZ 2012 8 6




. 22  Arrange the following numbers in order from the smallest {o the greatest.

48 , 418 , 401 , 4.09

Ans: . .

3.

-(smalle'st)

{greatest)

19 o
23 Wite 5 as a mixed number in its simplest form.
Ans:
24 There were 2 litres of grape juice in a bottle. Grace drank 0.45 litres of grape juice’
4 . -
while Betty drank 3 litres of grape juice from the bottle. How much grape juice was
left in the bottie?
Ans:
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25  Study the diagram befow. ABCD is a square. Find £y.

A B

26  Praw4 more unit shapes tééxtend the tessellation.

P4 Math SAZ 2012 10




The table below shows the different mddes of fransport the children use to go to

schoel. Study the fable earefully and answer questions:27 and: 28,

" Totat

1. 650

CrTearn

i

27 Howmany boy§walk to scheol?

Ans:

28 How many more children trave] to sehéol by bus than by car?

Ans:

P4 Math SAZ 2012 11
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29 Complete the symmetric figure with the dotted line as a line of symmetry.

AN

\ )

- 30 James took 1 h 25 min to complete his schoe! work and then spent 55 min'to

practise on his piano. If he started doing his school work at 3.45 p.m., at what time

did he finish practising on his piano? -

Ans:

Ky | am a number with 3 decimal places. R
The digit 6 is in the tenths place.
The digit 4 has a value of 4 hundredths.
The ones place has a value of 9.

The digit 2 stands for 1000

What number am {7

Ans:
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32 Ryo has four number cards as shown below.

9

3

0 ts

By using.the digits.on. Ahe eards, he- fonns_ﬂ;e.mmeg_testposssble ng;tnumbenand_.
the smailest possnbie Aigigt numiber. What is:tHgsdifference -betwéen these two

numbars?

Ans:

: ' 1
33 How many one-eighths are there in 5-2—?

Ans:

34 Some students plan to buy-a.gift for their classmate. If each of them pays $2, they
will be short ¢f $4 for the gift. If each of them pays $3, they have $4 left. If there are
fewer than 10 students, how much does the gift cost?

Ans: $

P4 Math SAZ2 2012

13



: Section C
Questions 35 fo 38 carry 3 marks each, Questions 39.to 43 carmy. 4.marks-each: Show-your
W‘d,ri;&iiagr cleany in the’ spate’ prowded below-each: questlon and wiite: yobf: AASWErS' '
spages provided. (32 marks)

35  Mr Ghua is now-45 years old-and-his daughter is 17 years old. How many ;Learsagn.
was: Mr_Chua_ﬁmceasﬁ@Id-ashisﬁaughtep :

Ans:___ [3]

36-  Siti bought 2'bags-and @ waich. Each bag cost $37.80, The watch cost $56.30 more
than each bag How much dld she spend altogéther?

Ans: [3]
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37  Mdm Ho had a piece of ribbon 300 cm long. She cut out ~52- of it for Jessica and

used —1— of it for her craft work. How many centimetres of ribbon was feft2.

Ans: 131

38  The diagram below shows the direction of each place fronrthe MRT station.

Neighbourﬁo'ed
_ Police Post
Neighbourhood ‘ ' ) PR ] ,
Park _ Pilaygreund
Library fe MRT Station | > g;gg”g:ﬁ

Bus interchange

Cinema |
¥

Hawker Centre

{a) Which direction is the Cinema from the MRT Station? °
3 X
(b) Andrew is at the MRT station facing South. He makes a 1 turn in an anti-clockwise

direction, where is he facing now?

Ans: {a) {1]

(b) (2]

P4 Malh SA2 2012 15
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39 Simon started on his Mathematics Practice Paper at 2.45 p.m. He took 5 minutes for

each of the 14 multxple cho e_-queshons H finued f 'mm@iete the remaining
B did:he cormplete

sifg:the: 24-hour. clock.)

Ans: ' [4]

]
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40

The figure below is not.drawn o scale.. Itismade:up.of

gfr&féétaﬁggeg,g}\- and-B, and

a siuare C. The lengths of alt the.sides of the shapes-arewHoleEmbers.

(a) Find the area of Square C.

(b) Find the perimeter of e whole figitre.

35m

Ans: (a) [2]

o) 12]
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41 Mrs Tay:bought 4 pairs of shoris and 6 T-shirts for $41.60. Mrs Wong bought 3 pairs
of shorts and 5 T-shirts, and paid $8 less than Mrs Tay. Find the cost of two
“T-shiffs: -

Ans: [4]

42 |f Carol gives $16 1o James, beth of them will have the same amount of meney.
If dames gives -$24 to Caiol, she would have five times as much money as he.
How much does Caiol have?

Ans: [41]

P4 Math SAZ2 2012 ' 18




43 There are 940 blue, purple and red markers in a'box. The number of blue markers~

is % the number of pusple markers. Thére dre 85 more red..markers-than blue

markers. How. many purple markers are there?

Ans :

[4]

P4 Math SA2 2012
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Answer

- -~

EXAM PAPER 2012

SCHOOL : AITONG
SUBJECT: PRIMARY 4 MATHEMATICS

TERM : SA2

G B[ 5% 97|68 e lowlon]ozonlon
3 | 2 3 3 I [ 3 ¥ | 4. y4 1 3 4 1 ) 1

15)11045 16)7905° 17)2 and 3 18)6/14 19)3/11 and 3/7

20)HF 21)44° 22)4.09, 4.18, 4.8, 40.1 23)34s 24)0.75

25)17° 26) . 27)153 28)272

29) T 30)6.05p.m.  31)9.642  32)6561

33)44 34)$20

1]
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Answer Key


35)45~17 = 28

(difference in age is always the same),

c- 3 lu' 28 .
1u \ﬂ___)
D 2u

282 =14 (1u).
17-14=3

36)$37.80 + 37.80 = $75.60
$37.80 + 56.30 = $94.1¢
$75.60 + $94.10 = $169.70

37)300+-20 = 15
20—-13 =7
15x 7 = 105cm

38)a)South-West
b)Library

39}14 x 5 = 70mins
245 + 1h 10min = 3.55p.m.
9% 8 = 72mins

3.55 +1h = 4.55 + 5 = Sp.m.

5p.m. + 7min = 7.07p.m.
5.07p.m. = 17 07

40)a)8 x 8 = 64m2
b)8 +8=16 +8 =24
24 + 14 =38 = 8 = 46m

41)4S + 6T = 41.60
35S + 57T =41.60-8
3S + 5T = 33.60
41,60 —33.60 = 8 (1s+1T)
8x3 =24 (3s + 3T)
33.60 — 24 $9.60
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42)If cost gives James $16

C
3 $16
Originally

C 16 | 16

James gave $24

4 units
———
C| |24 32 24
D? 24
32 + 24 + 24 = 80 (4 units)
804 = 20 (1unit)
20x 5 =100 (5units)
100-24 =76
43)Red 85
Blue 940
Purple

940 — 85 = 855
8559 = 95 (1unit)
95 x5 =475
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